o(d dxy) (cm)
o(d dz) (cm)

-
<
i

10

. w8

Rati
Rati

----------- RPN = ik ahhhl: ahhhE: SR “EERERRRFRE & “EE SERRE © 1

=
o
e

k4

H

Y

T

i

*»

"t

»

:

4

i

L

T

Ny

*

RS

4

0¥Z3—™ = ~"-1 0o 1 2 3 093 "1 o 1 2 3
—=— DQM_V0001_R000000001__Global__mkFit_noCAND mline)
—e— DQM_V0001_R000000001__Global__mkFit_ CAND

—«— DQM_V0001_R000000001__Global__mkFit_batchCAND-adjusted

<
L

1 d

o(d @) (rad)
o(3p_/p.)

......................................................................

LI NN - O I SO YN | T

I ok

Rati
Rati

=
e o o e s 5
ks
H
.
5
T
Kt
+
.
T
3
T
i
L
g
e
g
. 4
=
o e o 5
T
H
.
$
Kt
+
.
T
i
L
g
e
L8
s
L 4

098 3%~ "0 1 2 3 098 3% 10 1 2 3

TP @ (PCA to beamline) TP @ (PCA to beamline)



	Contents
	Page 1


